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® 2-a-4+5a=4a-2

@ (-3) x (=2x) = 6x

® 3x+6)+3=x+2

@ —(a-4)+5(a-2)=4a-6
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(@)5(4x—6) +5(6r+9) = dx-

® (4x—6)+%(6x+9) = 4x
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@ 3x+2(x-1) =3x+2x-2

@ 2(x-3)-(2x+1)=2x-6-2x-1
%(6x+3)_(x+1)=2x+1—x—1
@ —(x-2)+ (-2x+4) =-x+2-2x+4
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2(6a—-3)-3Ba+1)=12a—6-9a—-3=3a-9
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534 (-9)=-6
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x+1 6x—-3 -2x+6

_26x+6—324x+ 12i16x+ 18
B 12

 —24x + 36

12
=-2x+3




1 L _
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> =g -36
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3x2—§(3x+6)+2(—x2+§> -x+6

=(Bx?-2x?)+ (—x—x) + (-2 +5+6)
=x2-2x+9

La=2,b=1c=-2,d=9
..abed = —-36
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A=2x+1,B=-x-3Y 1, 24-3B & x
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2A-3B =2(2x+1)-3(-x-3)

=4x+2+3x+9
=T7x+11




8 B=2x+3,2A=3B-54 T AZE o3P

ek Ao 2 vrehffolet,

> HE: A=3x+2

2A=3(2x+3)-5=6x+9-5=06x+4 |22 A =3x+2
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@ x-7 @ 19x+5 ® 15x+8
@lgx—l ® 3x+11
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A—(4x—3)=11x+5

A=11x+5+ (4x—3) = 15x + 2
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A+ (4x-3)=(15x+2)+ (4x-3) =19x -1
©19x -1
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@ 6x-1 @ 6x+3

@8x—|—4 ® 8x+9
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A-(2x+5)=4x-6
A=4x-6+ (2x+5) =6x—-1

A AXSHH, (6x—1) + (2x+5) =8x+4

7 A A
(4x—6) +2(2x+5) =4x—6+4x+ 10 =8x + 4




